HSST COMPUTER SCIENCE 2005

www.keralapscblog.com

-

o

’

7 348/2005

Maximum : 100 marks

o 2 = i
lime : 1 hour and 15 m-.n‘.@‘bi

1. Flow control in TCP/IP is handled using :

{A)  Urgent pointer &2 (B) Checksum
(C2)  Acknowledgement number (D} Vonable-size sliding window 1.~
2. Which among the following is a protocol of Wireless LAN? ’
'
tA) 8022 (B) 2023 ~4° =

W Re2s ‘/);!_..J /

L 3 The detu !t nayload of TCP segment ostablished during connection setup in hytes is
! (A) 536 v (B) 512
(C) 1024 (D) 1048

A Which ia the protocol among the following that is used for translating from physical add eas

»
| to Internet addre==?
| B
! (A) ICMP (B) IGRP™
| ;
{ © ArRP -~V (D) RARP
|
. R v
i -5, Which preperty among the onea given helow ia nint peascesed by the HTTP protocol
-
(A} Nen-cached v (B) Lightweight
; 0 Stuteiss (O Application Yevel |
{© 6.  The port numbor nesigned to FTP protoeal is -
(A: 23 (B) 22 '
() 6 ,@ P !
‘ 7. T proveeol used in TCHAP for dvnamic address nssigniment is . '
) ARD ¥ HARD
X ‘(“, (A) ARJ . (B) RARF
. G DHCP T W (1) Cap
A, Which of the following i teue about a cross corpiler?
(A) It is wrilten in the machine cude of ape processor and produces code for anather
pr:;r‘l'l.'cr
(8) It iz ured fur compiler porting
'\\ 1C) It mey be written in the same lnnguage as the oae for which it ia n compiler of
(D) All of these \/
{C 3
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5 not in the backend?
(B) Intermediate code generation
(D) Code optimization

Which of the following phases of a compiler i
(A) Syntax analysis
(¢) Code generation

FORTRAN does not support recursion because :
(A) 1t does not have pointer data type
(B) It is used for scientific and engineering applicationa
(C) Tt uses dynamic allocations”
(D) Itisnot a format free language

For a given grammar, which among the following parsing tables are likely to have the most

number of states?
(A) SLRY (B) LALR

(€) LRWO) (D) LR

A pareing algorithm used in top down parsing is:
(A) SLR
@ LR (D
Which among the following is not used for intermediate code gexfralion?
(A) Quadruples (B) Triples

(€) Syntax trees (m- v’

v

() LL°
LALR

DAG iz used ina compiler for !
(A) Intermediate code generation
(©) Code optimization <

(B) Code generation
(D) Parsing <

YACC is o program in UNIX uged for :
(A) automatic scanner generation

(C) automatic code generation (D) —Tone of these

Which of the fullowing identifiers used in L

.16,
token?
(A)  yylval/ (B) yyervor
{C) yylext \/ (D) yystack
/17, Consider the following grammar:
S(S) S—x
Which of the following statements is (are) true?
{i) The grammar is ambiguous
(i) The grammar i cuitable for top-down parsing
(iii) The grammar i8 suitable for bottom-up parging J
() oy (B) (i) only
(©) (i) only (D) (i) and (i)
348/2005 4

X contains the sequence of characters forming 0

‘5 118, Which of the following
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o}éﬁona ia context free languages not closed under? )
(A) Union 3 (B) Closure
(C) Intersection v (D) Substitution #

A phenomenon in virtual memory schemes in which th
. o processor spends most i
swapping pages rather than executing instructions is : R S

(A) loading

(B) swapping
(©) teashing < v/

(D) aging
Which among the following is not a reason for process termination?

(A) Normal termination (B) Memory unavailable
(C) Protection error (D) Iovalid time/ &

Which of the following is (are) true about virtual memory systams that use pages?
(l) The virtual address space can be larger than the amount of physical memory
(u) Programs must be resident in main memory throughout their execution
(i) Pages comapon'd semantic characteristics of the program,

(B) (i) only

(A) (i) only V'/
(C) (i) and (1) (D) (i) and Gii)

Which among the following will not lead to a deadlock?
(A)  Mutual exclusion ’ (B)

v
Which level of security is implomented in Windows NT?

(A) Al @ C1
(©€) w2/ ) C2 Py

Hold and wait
(D)  Circular wait

A method
othod of executing two or more programs concurrently vsing the same computer describa ;

(A) multi processing * (0 {FeTprmmTine . v

(C) virtual processing (D) time shariog

Windows 18 a bit operating system.
(A) 8
(B) 16
© 32/ v (D) 64
‘The UNIX shell :

{A) doos not come with the rest of the system

(B) furms the interface between the user and the kernal ad
(C) does not give any scope for programming

(D) does not allow calling one program from with in another

s 348/2005
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27. The invalid file in UNIX from among the ones given below is :

o/ (A) Minsunixy V* (B) letc/passwd
N (C) /ete/group (D) /fusr/binivi
I 26. The very first process created by the Kernal in UNIX s :
c\,\ @A) inits v (B) getty
(€) fork (D) none among these

29. A software package that includes two or more applications, such as word processing and
spreadsheets, providing for easy transfer of data between them is best defined as :

Q (A)

software server (B) software set

l’ (C) [integrated software package;/ v (D) application set

0\ (A)
4v ©

lv €)

30.  Which of the following is a software selection criteria?
(B) Efficiency
(D) Allof the above”

Appropriateness
Compatibility
Which among the following set is the software that connects two disparate applications
allowing them to communicate with each other and to exchange data?

(A) Intranet middleware)/ v (B) Software bridge

Software server (D) Software agent

</32, Which of the following is NOT a property of bitmap graphics?

v

A (A)

Vv

(A) Fast hardware exists to move blocks of pixels efficiantly
(B) Realistic lighting and shading can be done v
4C) Al line segmenta can be displayed as straight

(D) Polygons can be filled with solid colors and texturas

33.  Which of the following characteristics of a programming language is best specified using a

context-free grammar?
Identifier length (B)
J1C)  Operator precedence v

Maximum level of nesting

(D) Type compatibility

34, Which of the following comes closest to being a perfectly secure encryption scheme?

(A) The Caesar Cipher, a substitution cipher J \

(B} DES (Data Encryption Standard), a symmetric-key algorithm & / ‘/
(C) Enigma, a transposition cipher

(D) One-time pad

348/2005 [} C

(B Call by result

(C) Call by value-result
(D) cCall by name

(74 36. Prolog programs are :
ik facts and knowledge bases
(€) asetof functions
37, Kerberos iy -

(B)  horn clauses V*
(D) none of the above

(A) an operating system
B) a networking fije system protoco]
(€) an encrypted file system

(D) asystem that Supports auth,

entication in distr
138, ACL stands o 10n in distributed systems |

A

() Automatic Control Language

(©) Associate Cache Level ./ (B) " Access Control List

s B (D) Amortized Circular Ligts
(A
(B’) one that changes every time it is ugeq 4

one that ig assigned once ay,
1d not ch
(C) one that can be used on]. ey

Y &t a particular tjme of the day

( onge i
gn
D) no that 3 assigned for all Session lhat starts at a particulsr time

40. A hostile applet js :
(A) ¢

(D) An applet generated by another applet

The Page Renk algorithm is yseqd by :

(A) Www.googlecom . ”
(€) www.altavista.com,

42, The recursive funetio

41,

(B) www.yahoo,com

(D) WWW.go.com
n defined by fln)

ey =] fnu
Jaon ) n=l and f(n)-no-/(fnl) computes the
(A) a*
© amarys o 5 5
(D) 2q
7
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> tio? 1/62. Which among the following functions is not reflexive?
/ 43, Which of the following file formats have the largest compression rati ng\

o o (A) The folation <= onthoset Z of integers
(A) JPG¥#- v (B) F'/ ' (B)  Set inclusion ¢ on a collection C of sets &~
©) BMP (D) TIF (C) Relation L (perp ) on the set of lines £ in a plane- A"
. e (D) Relation || (parallel) on a set oflines L in a plane + -
j 44, The founder of Computer Graphics is : Ivan Sutherland ad
¥ (A Bliise Pescal (B) Ivan 53. Which of the following type of relations partitions a set into g set of disjoint classes?
f
é o e hedte (D) Gourard ) (&) partial ordering (B) equivalence = W
’ A oge'is: }{ (€) reflexivo (D) symmetric
The scientist credited with the evolution of the JAVA programming languag i
45, The s¢ i, (B) Scott McNealy ¢34, How many times in nPr that of nCr?
o dy Grove . (D) Linus Torvalds &) rl — (B) =l
Andy Grov
© - © (a-r) D) ner/
. J 46. The scientist who developed the idea of the WWW is : im Berns Lee 7
James Gosling (B) [ Tim Berns \/ 55, Deterministic and non-deterministic models of which among the following automata have
r\)‘ - kY ba (D) Linus Torvalds non-equivalent powers? )
(C) Andrew Tannenbaum (A) FA ® ppa Vv
| 4 database is called : (C) LBAY D
) ; 8 in a very large D) ™
Vid 47. Discovery of hidden Paltorr.I (). Dala Manegumast
(A)  Data Warehousing ) 0 g i #.7/ 86, Which among the following types of languages are accepted both by Finite automata and
-\7 (C) Online Transaction Processing { Pushdown automata? s P
(A) Regular ,/ (B) Context free
J 48. SQuis: T —— (B) Data Manipulation Language () Context sensitive (D) None of the above ~*
(A)  Data Defini b . -
'\?/ © IR By (D) Neither (A) nor (B) v 87, Consider the following two langunges over {a, b}.
L1-the set of strings beginning and ending with an ¢
. : ith ISDN?
: J 49.  Which of the following terms is not related wi @) ATM Vg L2-the set of strings with same number of g 'sand b's, ¥
N (A) NTI ! (D) PRI Which of the following is true about L] and 127
v} (C) BRI . \ (A) L1 and L2 aro both regular
et f users : -
/ ) e Gllowing ds can be executed by a user for knowing the nuaber of u \q (B) L1 is regular and L2 i context-free but not regulnr <7 V7
50. lw:;:“l (::: : ?J’:X‘L\' Satsnt (C)  Neither L1 nor 1,2 is regular, but bath are context-frea v
ogped ina U2
- (B) telnet

e (D) L1 is context-free but not regular and L2 is not context-free
’)9 . P ‘/ (D) login !
(C 58.  Classify into one of the alternatives the

grammar denoted by the productions § -, al},
S04, Aa, A-aS, A bAA B, B s, B-»aBB, AB - Bj
51, 14447+ .. +(Bn-2)is: (B) n(3n-1)2 ~/ (A)  Regular grammar (B)  Context free grammar -
(A) 8n(n+ l;‘//z ©) nBn+1) (C)  Context sensitive grammary” v’ Unrestricted grammar
(€) nf2n-1
i C C 9 348/2005
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/ 64, Which mnong the following flip-flops is a modification to the R-S flip-Nop that aveids its
. indoterminate state? ) 5
(A) JK fip-flop A~ (B) D flipflop
€) QAip-flop & (D) T Nip-flop
,‘;5, The decima! aguivalant of the octal number 137 is :
(A) 85 (B) 87
\4 © (54 vV ) 9
g0 The next larger integer corresponding to the pos_ili\'a integer whoga regresentation in
“* hexadecimal format is FF, represented in octal form is @
(A) 1000 (B) 100/ ﬁ
€y 1 (D) 200
" 67, Into which of the following categories of tokens can you classify the character stream
¥ “elsexi™ : 7
(A) Keyword / (B) Identifier «
(C) Reserved word (D) None of these
C
348/2005 10

~gv pisequivalent to:

.

(A) =p=gq (B) q—op‘/

(C} ~p=r~y D) ~g—==p
CRCis:

(A) an error detection code v’

(B) an error correction code J

i ion cod

() an error detection and correction code

{D) none of these
Totempole output is characteristic of the logic IC family :

(A) RTL (B) CMOS

() TTLY v (D) 1L
A XOR B is equivalent to - J

A) (A+B)(B+A)Y v ) AB+BA

() AB+BA (D) (A+B)(B+a)

Which of the following is not correct?
(A) (ny)lnx'-y‘ (B) (x'+#y) =x-y

(m v/

(C) (¥'-y) =x+y

‘-'(/68. How many C tokens are present in the following assignment statement as b,
(A) 2 (B) 3
A © B v ‘ ™ 5%
Jeo) The operator in C among the following that is not overloaded is : ~
et '

(A) B | Vv
© + D) -

v /o,

The incorrect statement a++b++ in C can be converted o a legal statement by changing
which of the + characters to = 7

(A) 1st alone (B)  2nd alone /
(C) 1stor2nd (D) 1stor 20d alone but not both "

{7(1. Which of the following is a valid operator of C++ but not of C?
O W @/ B) ++

C€) -~ D) -

s //2. An abstract clasa in C++ is :
(A)  aclass with no data members
(B) aclass with no member functions
X (C} aclass declared with virtual qualification
(D) used to provide a standard interface for derived classes S

In a publicly derived subelass, the protected members of a superelass are :
‘ \\ (A)  available with public visibility (B) available with protected visibility «~

(C) available with private visibility (D) not available

NN Which among the following DML given below is a domain caleulus language?

\o (A) SQL (B) QUEL
(C) QBE // v (D) SEQUEL
A /fs. A relation in BCNF with no multivalued &ependenciu isin:
(A) 1NF (B) 2NF
(©) 3NF/& ™ 4 mu\/\/
C 11 348/2005
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From a table STUDENT with the fields ROLL NO., NAME, MARK1, MARK2 and MARK3,
which of the following SQL 1 lists student with the highest mark in mark! field

(4) SELECT ROLL NO., MARK1 FROM STUDENT ORDER BY MARK1
(B)_ SELECT ROLL NO., MARKI FROM STUDENT GROUP BY MARK1

SELECT ROLL NO., MARK1 FROM STUDENT WHERE MARK1 = SELECT
MAX(MARK1) FROM STUDENT «~ v/

_/(D) None of the above

My

If A= BC, B—E and CD -» EF hold in a relation scheme R(A, B,C, D,E, F), which of
the following functional dependencies also hold? 7 o

Ay BaD (B) AD-CD~

(C) DA (D) B-C

In a relation scheme R with attributes A, B, C which of the following defines the
augmentation property? ‘/
(A} If A < B holds, then AC - BC where C is a subset of R ~~
(B) A- B and B-»C implies A »C
() 1A ->B holds, then B -» & alsohold / &
(D) X -»YZ implics X »Y and X » 2

Spuricus tuples may oceur due to
(i) Bad normalization
() Theta joins
(i) Updating tables from join
(A) {idor (i) (B) (ii) and (iii)
(C) (i) and (i) v (D) (i) or (i)
Which of the following data structure is widely used in a network model RDBMS?
(A)  Arrays AB)  Graphs v’
(C) Trees (D) Stacks

Tables derived from the ER diagram are : G
(B) arealwaysin INF V7~
Ab may have multivalued attribute

(A) are totally unnormalized
(C) can be further denormalized

. )ﬁ. A non-linear data structure from among the set given below is :

b

(A) queue (B) stack

(€) linked list (D) \/

34872005 12 C
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The equivalent prefix expression con?;;mggﬂmﬂMxptelsion (a+b)e{csd)-g+h
ist
(A +-sabred®gh (B)

tabtied -gih =
A
(C)  +=*+abed v gh

o [ )

In a complete binary tree of depth #, the difference between the number of nodes at lavel n
and level n-1 is

(A o1/ \/ -

(B) 2"
(C)y 2= (D) 2%-1+-

A binary tree with 20 nodes can have null branches (A null branch is a
branch pointed to by a null pointer, if represented by a linked list structure),

(A) 20 B) 21V
© 10 o 9+~
How many distinct binary trees are possible with n nodes?
(A) 2" ~n \/ (B) n!
(C) nl-n (D) 2*v

Which among the following is the average case camplexity of the quick sort algorithm?
(A O(logn) B) 0(n?)
© Oflogn) SV (D) Oflogn*)

A common praperty of the selection sort and quick sort algorithm is :

(A} anin place sorting mothod (B)  best case is of O(n) complexity

() average is of O(nlogn) complexity (D) worst case of O(nlogn) complexity

Which of the following algorithms has running time O(n’] in the worst case but O(nlogn)
on avernge?

(A) Bubblesort (B)  Mergesort

(C) Heapsort D) Quicksort . v
What is the worst case complexity of Quick-sort?

(&) Oflogn) (B) Ofnlogn)

© o)/ D) 0fn)

Minimum cost spanning tree algorithm uses a technique of : o
(A)  Greedy method~, /

(B)  Divide-and-conquer
(C) Dynamic programming

(D) Randomized technique
13

o

www . keralapscblog.com



- /92. A binury seaich tree with 8 nndes produced 1, 2, 3, 4, 5, 6, 7, 8 as the inorder rever=al. What
is the root node of the tre?

A 1 ® s/

) # (D) cannot be determined + v
_';/93. Which among the following 1s incorrect about the complexity of algorithms?
(A D)< (nlogn) < n?) i3} O(lngn)<0(nlogn)<0{n’r/
‘©) Olles) < 0n:<0?) D) Ofn)<Oogn)<0fn?) .7 L~
+ A4, Whizk nroug the foilowing devices interconnects networks and operute at the application
layer? 7
A} Bridge o @ Hub </
(C' Router D) Gatewsy .,
;Jés. Theiw is a diskless workstation on a TCP/AP LAN. Which will be the first protocol it will use?
¥ (A} FTP (B) ARP ¢
) HTTP D) RARP o
> /.’ 96, Modems communicating using the V.32 bis standard o]:)\yrate at: J
(A} 9500 bps (B) 14400 bps
() 28800 Lps (D} 6E000 bps v
_/ 97 RS-449 ik a standurd vsed for :
(A) gerial communication */ {B)  prialled cornunication
(C) neiwark signalling (D) ‘molem sigunalling
8. The polvnnmisl uead by CRC-16 standard for genorating the checkswm is :
V)
A 2N (R ,t"tx“ox’-l/
@ ity oS 1 yPaxbaxtay

</ €9, Which amuny th following is not pest of the TCP bonder of a TCPAP prcket?
. A & e it 7 IR kaowladgeaeat piher
M Meatocol Vo

(C)  Window siza

u/. 100. The [P address of a node on & LAN bazed on TCPAP 18 191.168.10.1. Inta which eloss doos
this uddress belong?

(Al Class AV B Classp
) C':!'I!C.}_/_ () Class D

14 C
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